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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - I/II + EXAMINATION — SUMMER- 2017

Subject Code: 320001 Date: 08- 06-
Subject Name: Mathematics |1

Time: 10:30 AM TO 01:00 PM
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Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Each question carry equal marks (14 marks)

Do as directed (Each question has equal marks).

Prove the points  A(4,2) , B (7,5) and C (9,7) are collinear.

The lines 3x +y—7 =0and 6x+ky + 15 = 0 are parallel then find
the value of k .

Find the equation of circle with centre (0,0) and radius 3 unit.

If f(x) = logx ,then prove that f(x-y) = f(x) + f»
If y = sin(3x + 4), find Z—i’

Ify =x° —cosx +4 ,find %.

Evaluate [(e* — 3x2) dx

YUl YHIEL 5L (EIS Usloll QL UMt ]).

U@ 5A 3 QLA A@42), B(7.5) ol C (9,7) AW D,

B YR 3x+y—7=0 U 6x+ky+15 =0 AHIR A A
k ofl Slact e .

adalell w{lsel AN, Boll Fos (0,0) WA Blell Anies 3 AsH

8.
A f(x) =logx 8, A MQA 5A Y f(x-y) = £(x) + F()
y = sin(3x + 4) H2 % Andl.

y=x%—cosx +4 M2 -:—i’ N AL

Ana f(e" —3x2) dx

Fill in the Blanks .

If A(3,4) and B (0,0) then 4B =
The slope of straight line 2x +y—8 =0 is
Radius of circle x? + y? = 16 is =
4t -1

o

d

—|sin"1x =

dx
fseczx dy =

2017
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Find area of triangle having vertices (2,3) ,(4,5) and (—3,3)
Evaluate lim,_q (1 + 335);

As Asleell Axsn A Boll QAL (2,3) ,(4,5) Aol
(-3,3) 8.

:
it A - limyng (142
OR (ucll)

A (2,0) and B (—2,0) are given points .A veriable point P (X,y)
moves in such a way that PA% + PB? = 8. Find the equation of

locus of point P.
x*+x-2
x+2

Evaluate lim,__,

A (2,0) U B (—2,0) HAcll Qg2 B As AR [@g P (x.y)
Adl A 2@ 28 ¥ PA2 +PB? =8. [A¢ Poll [Agua oll
alsel 2l

fid - limgr

X+2

Find the Equation of line which passes through the point (4,3) and
perpendicular to the line 3x — 4y + 5 = 0.
Find derivative of x? , using first principal of differentiation.

@€ (4.3) Higll Utk acl wal YU 3x—4y +5=0 o dal

yrulloll wls2w 0kl

Qscotoll Yyur Rteidal Guol 53 x? of [@AslAd Andl

Find the equation of the tangent and normal to the circle
x% +y? —4x + 6y —13 =0 at point (1,2).
Evaluate [(sinx + cosx) e* dx
adal x% +y? —4x + 6y — 13 = 0L [Ag (1,2). 4010 2uls
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Aadl J(sinx + cosx) e* dx
OR (el

If A(2,3).B (4,7) and C (5, —2) are the vertices of 4 ABC find the
equation of median AD through vertex A.

Find the derivative of v , using first principal of differntiation.

A (2,3),B (4,7) ol C (5,-2) 4 ABC oll QAREA D A Hiell vl
Al HeU AD of wllsReL Aadl
[@Qsctotett yum Rteidall Gualdl 531 vx of Rs@c Andl

Find equation of circle having centre (1.1) and passing through
the point (—2,4).
3x2-6 d

Evaluate [ ———

(@g (—2,4) Hiell YR A A Jos (1,1) bRl L o
Als2wl 0.
ana [ St b

x3-6x+5

If x=a(6 +sinf) andy = a(l — cos @) then prove that

d 6
2 tan-.
dx 2

d
xsiny+ysinx =5, then find %

oA x =a(0 +sin@) andy = a(l — cos6) Al U@ s ¥

d 0
2 = tanZ.
dx 2

d
xsiny +ysinx =5, "R % Ancl

Find the Maxima and Minima of the function
y=2x3-3x%—-12x +5.
If y =log(sinx) +tanx , find % ;

QB y=2x%-3x2 - 12x + 5 ol HeAH AUA Yol
sl Anal
d
y = log(sinx) +tanx 2 d—ic} And.
OR (Aall)
If y=2e3+3e™%* then, prove that y, — y; — 6y = 0.

. . d
if y =sinx®% then , find é
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R y=2e3%+3e2* A AUAA A} y, —y, — 6y =0.

y = sinx'"* J@ % Ana
If displacement of a moving particle is given by
s =t3 = 3t% + 4t + 3, find the velocity and acceleration at

=2.

Differentiate sin~* x, with respect to cos™!

X.

As Af dllolQuals =3 —3t2+4t+3 B ¢t =2 A
Qg Aol A Yol 20l
sin"lxoll costx ofl wAaHl @scot 53,

Evaluate [ xlogx dx.
Evaluate folﬁdx

Ancl [ xlogx dx
L
QU’LCH fO ;de

2

Find the area of circle x? + y? = a? using method of integration

cosx—sinx
Evaluate [————

cosx+sinx

Usctotoll Heedll adul x2 +y2 =a? o Aasa Andl
a.UlCIl fcosx—sinxdx

cosx+sinx

OR (Acll)

3
2 cotx

Evaluate —_——
0 tanx +cotx

Evaluate [ eS"*-cosx dx

Aadl [Ft gy

tanx +cotx

Ancl  [esin¥.cosx dx
Find the area of region bounded by the parabola y? = 4ax and
x? = 4ay.
2

Evaluate f—
14 x2
URAERL y? = 4ax ol x% = 4ay. <A AAAc Ade] AASN

ENEN
2
Aadl f o

dx
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